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QuﬁgTION PAPER SPECIFIC INSTRUCTIONS

Please read each of ‘the following instructions carefully before attempting questions :

e |
There-are EIGHT quesfions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. I and § are compulsory and out of the remaining, THREE are to be attempted choosing at
least ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) booklet in the space provided. No marks will be given Jor
answers wrilten in medium other than the authorized one.

Assume suilable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall
be counted even if attempted partly. Any page or portion of the page left blank in the answer book must
be clearly struck off.

C-DRN-N-OHNUA 1

www.examrace.com



ErE—3

SECTION—A |
Q. 1 Fraffem ¥ ¥ wft w3 Jwe Gfwd, S wR¥w o 150 e F @Y wRY —
Answer all of the following in about 150 words each :— 5x10=50

Q. 1(a) ﬁm%w%ﬁammummeWWQWEﬁ?

Discuss how the efficiency and effectiveness of a manager would impact organisation
performance. . . 10

Q. Hb) wer-wuE-gRuw & fw T Wy ¥ 7 3@ A ) IIEW T PW FL AT AN |
What is the relationship between Goal-Effort-Result ? Explain withlan example. | 10

Q. 1(c) T ITEWN TRE FW gL Wi it whw & = A SRR (aawiEor
yER g # free ¥ gfy wXowwar @7 ' '

Distinguish between ‘Authority’ and ‘Power’ with an example. How can empowerment
Yy [ ) p

enhance individual performance ? - 10
Q. I(d) Wexl Fiard ﬁwﬁ‘&aﬁmq)aﬁaﬁ?m%mmgmﬁamaﬁm

IR | . |

Explain ‘Affirmative Action’ and its 1mphcat10n§ for organisations. 10
Q. () Vot wevw Qadfiee Al @ wuT A M A fr Bfne wel @ @R 7

What characteristics would, you look:for in selecting an expatriate manager ? 10

Q. 2(2) wWEEF Torfy @ FrEww 73 ¥ wg gEE yEed @ o offier twd 8 7

What is the role of human resource management in formulating business strategy ? 15

Q. 2(b) Ww%#ﬁﬁ,wﬁ,mmm (reder), gl R =EEc & 9 ey
@ T AR | o

Explaih the relationship between values, perception, aniﬁudes and behaviour in context of
individual behaviour. . .20

Q. 2(c) ‘wRwgar (mﬁﬁazﬁn)awm%?ﬁﬁmmﬁmmwﬁam
g

What is Stereotyping’ ? How does it influence the decision-making procéss ? 7+8

Q.3-(a-_) mm(ﬁnaﬁmﬁ)%g@mw—m%?mwaﬁgﬁm

¢ forg wh e G i L
What are key ingredients of a ‘Learning Orgamsatlon’ ? Give an example to substantiate
your answer. f 10+5
O-DRN-N-OHUA 2
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Q. 3(b) T MY T Bw v S s’ ‘@ ofew F R YT GHE ST |
Explain how ‘Job Design’ would influence ‘Quality of Work Life’ ? 15
Q 3(¢) ‘RRufors Aga’ § 70 o ¥ 7 ol 3 Ry dRwEE W@ S R e
wegd ¥ gETa Aged wR gad ‘
" What is ‘Situational Leadership’ ? Suggest the leadership style that is relevant for different
levels of maturity of subordinates. 10+10

Q. 4(a) WW%WWWﬁ?WIWWWW%WﬁHW&H
m%? '

Describe four sources of organisational stress. How does stress impact employee behaviour ?
10410

Q. 4(b) “ATRF (Corporate) TR WA’ (MTHH) FLE 7 w1 3 ‘wed F wweAl @@
# e A AW geA] P aviA aﬂﬁfrt.'

What is Corporate Social Responsibility ? Descnbe two CSR initiatives taken by organisations
in the Indian context. | _J_r' 8+7

Q. 4(c) Mﬁlﬂﬁum%mﬁm%dﬁﬁ?ﬂw@waﬁtwmﬁwﬁﬂﬁm%?

How has technological advancement influenced commumcatlon and relat10nsh1ps amongst

organisational members 7, ' 4 15
WS —4
SECTION—B
Q. 5 Prafifem ¥ ¥ wff vt & Iox AR, N TAFT W 150 TR K A
Answer all of 'the following in about 150 words each :— 5x10=50
Q. 5(a) ST BT (%ﬁfaﬁv)ﬁﬁwmaﬁgfﬁraﬁiwﬁ (Fqﬁmaﬂﬁséwqﬁﬁﬁi
Analyse the nature and scope of marketing in the digital era. 10

Q. 5(b) fFviyT wUAT & fog wTg AE’ (ﬁtﬁw)sﬁt‘mm'a%mﬁﬁ?ﬁﬁml
Distinguish between ‘relevant cost’ and ‘irrelevant cost’ for decision-_making purpoées. .
10

Q.S(c') '.iﬁﬁmm’%mmm??w%ﬂwﬁﬁ?ﬁu%ﬁgm.%ﬁmuzﬁw
g7

What do you undérstand by ‘Capital Adequacy’ ? Why is it important for financial sector
reform ? ' , ' 10

C-DRN-N-OHUA
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Q. 5(d) fxima 1 Asfeus fafedt & =9 # R R wi|Ry & d@ gaa MR SEE

R W e DR
Compare ‘leasing’ and ‘buying’ as alternative methods of financing. Explain with an
example. 10

Q. 5(¢) Hiudma F IR W IEWF IRaky e (T 3w Red) &1 gorad s | [
@1, BT T&IE X §Y, T IR |
Explain with an illustration the method of estimating required rate of return'based on

CAPM. ' 7 10

L

Q. 6(a) SUFN fagUrT SﬂTSﬁ'@lﬁ@'ﬁW & o s @, W%@—@WW

T BY, T I |
Explain the differences between ‘Consumer Marketing’ and'‘Industrial Marketing’ with
one example from each. V| ' 1248

Q. 6(b) ‘Frim A@ERT, ‘Wﬁw’éﬂtw‘m%@m’%ﬁﬁamaﬁwﬁﬁﬁlﬁ
fFor yot ©F TEX # 919 Haftg 7

Explain the difference between ‘Financial Accountmg ‘Cost Accounting’ and ‘Management

Accounting’. How are these 1nter—re1ated ? r— 12+8

|
Q. 6(c) ’rﬁmvﬁﬁaﬁu‘rﬁmﬁ——r Wﬁﬁ?ﬁmwémm%uma‘rwmﬁ =il ?
Under what cond1t10ns should a firm pay cash dividend or bonus shares ? 10

Q. 7(a) Wmm’%wm%?wﬁqm%@mw%mww
oy w1 RE FO A B g deRs B g

What is ‘Market Research’ ? How does market research help in developing a suitable

marketinghstrategyrfor a new product ? 6+14
Q. 7(b) ‘THE (DuBpnt) Reawor X IH "eHl F T T |
Explain “DuPont” analysis and. its éomponents. 10

Q. M) () T FI R B D X fwew B gerer § Rt @ am @ ww § aetw
Wl g, 9 TP ERT BA P AFA A8 YT Bl 8

Why is ‘Employee Stock Option’ shown as part of equity in the balance sheet when

it does not bring in cash to the firm ? 8.
() TR fawed & @ndl # wose R
Explain the benefits of stock options. : 12
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Q. 8(a) =7 " T W 60 T U FARE awg F X 1000 TR TwH #, g5 AR
# R o Profe st e 2, sl am @ w70 e ofy aend awg agen wm 2
drq F foe wewet gl v FoyEEAT 10 TR UR oA @wg @) wem dYer @
14 70 8, Rmm freafafes @ sar wfefa e om &

A W L1 feoqofy
fererett T 4 yITYT F §H iew R
e w3 IETYE B WY §0% weadt
HICTE B %2 ngz%mm%qﬁa%f?_'
S % 5 weye @ @ aRed

Y® gemRasg & g 4 92 & wefraewr A smawmwm A R 1 SRS #1010,000 ForEd
# aidfe war @ mmnmmawamm%msmm
F FITEE ST 8 7 M

M waﬁr%aﬁfﬁ(ﬁﬁ?&m)mmmmwﬁﬁm

(i) W @ T-fachy s =1 Ied@ AR, mﬂmﬁaﬁtwﬁvhﬁ?f
Ty e s SRy

Kanchan Machine Works has received an expoﬁt order for surface finishing of 1,000
castings at the rate of Rs. 60 per casting, as against Rs. 70 per casting that is normally
charged. The direct materials cost for the job is estimated to be Rs. 10 per casting. The
machine hour rate is Rs. 14, calculated as follows :

Cost Item Rate Remark
Power i Rs. 4 Fully variable with output
Supplies Rs. 3 80% variable with output
Indireeti- labour Rs. 2 50% variable with output
General factory overhead Rs. § Not variable with output

Each casting requires four hours of machining. The business has an annual capacity of
10,000 castings; 75 per cent of the capacity has been utilized and the busiriess has
committed orders for 500 castings.

- (i) Estimate the incremental profit or loss from the order. 14
(ii)‘ Mention two non-financial factors that the business should consider while deciding

on the order. . 6
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Q. 8(b) T &S R A TH weh T Radwn A Rew A guwhE g wden 3 (s
o MR F A wS A '

A pushcart vendor and a vegetable store vendor have identical sales and operating profit
(i.e. profit before interest and tax) :

') Wwﬁmmmgﬁﬁmﬁ%mmmﬁw

&1 qREwaT e |
“Us‘ing assumed numbers, calculate the degree of operating leverage for the two
businesses. , M 10

(i) T & TN ¥ ¥ Py AR W IewEe PR A e 2 0

- Which of the two businesses can have a higher financial leverage 7 10

Q. 8(c) Wwﬂwwmﬂaﬁmmaﬁwuﬁmﬁmﬂ%mmmﬁ
© @ faw yeR gt e Amed ?

How should a popular consumer product-’é'ompanj'; protect its reputation or image from
scandals concerning its products ? /' | ' 10

=
W
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MANAGEMENT (PAPER—II)

Time Allowed : Three Hours i Maximum Marks : 250

QUESTI.ION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the=following instructions carefully before attempting questions)

There are EIGHT questlons divided in two Sections and printed both in HINDI and
in ENGLISH.

.Candidate has to attempt|FIVE questions in all.

Question Nos. 1'and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.
The number of marks carried by a question/part is indicated against it.

|

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly/on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized

one.
Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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@Us—A / SECTION—A

1. (a) T FMCG 0 o &8 o flo grawdi & Fmfor ofit ot =l it &t 9etd sj@en & arem
¥ fosht & AR @ 3| I UF oty A e wregEt % aW SR 369 el At o N
a3t wE Wik @t §4 f @ Tt T S g S 98 W@ 8| FE e an-an
qAAfd B S B W H e # W, FEE 3w i gen awrs geen o

- - T R S e el B, 4839 win qiadeehe satia gkt s &1 sfe T dio e
A O s geen wwsier § weh e, fen gee R B g wwen gaﬁtlwa %
w%|

An FMCG company G & P Ltd. is in the business of making and selling diapers"'
through its supply chain. It is facing a serious problem of huge imventory in [
one period followed by a large number of stock-outs in the next.period. The
pattern is getting repeated again and again. On analyzing the problem, the
company found that as demand information moves upstream in the Supply
chain, the demand variability is getting amplified 4A supply chain consultant
was approached by G & P Ltd. who suggested th.at this problem is due to
Bullwhip Effect.

‘gAfeRT UMTE’ % T AT R &7
_ What are the possible reasons of Bullwhip Effect?
(i) ‘qefeRd v R YT SeTer f o wwar 27 0

How can Bullwhip Effect be contalned? [

(i) Tasht % farg (PoS) ﬁ%@mﬁ%@w ‘geAfezy v’ tﬂw%?
What is the role of Pomt of Sales (PoS) information on the Bullwhip Effect? 10

b) () v e, T e (e i) @ w % R e e R

& Tl w1 fog ety emy N7
How would );01.1 apply the principles of value analysis to reduce cost
overruns in Indian projects? 5
(i) e R % w309 B sl 5 S SR
' What are,the phases that you will follow in the process of value analysis? 5

(c) T Hr % 36 § 50 7 H g F 200 FrafREi ot s B & 50 @ ot o ®
200 et % T # fufor w0 % fog 6 2w wmen ¥ fog % G ot & &
%ﬁﬁeﬁmmﬁﬁ%%\wwmw%36@503&%%%200%‘0@@?1}@
82ﬁa®ﬁaﬁmg@a TER-TA | T Ed 91 50 a8 § sy % 200 i § |
104ﬁﬁﬁﬁwmwﬁmmﬁw-wﬁﬁﬁﬁaﬁai

A study is conducted on 200 residents of a colony who were between the ages
of 36 and 50 years, and on 200 residents of the same colony who were over the
age of 50 years, to determine whether the source of their daily news is from
newspapers or otherwise. Of the 200 residents who were between the ages of

C—DRN-N-D#72i5/ 38 2 |
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36 and 50 years, 82 got their news primarily from newspapers. Of the
200 residents who were over the age of 50 years, 104 got their news primarily
from newspapers.

(i) o e famh = 39 s = A fr 9w, @ W@ 9 f e ((NarfafE)
=1 grft 6 Sweni—

If a resident is selected at random, what is the probability that he or she—

(1) & el w1 § gaEn-wEl @ e €

got news primarily from newspapers,

(2) TR MAthE €9 @ FAran-oH @ fred e ag so ad A s €

got news primarily from newspapers and is over 50 years oldy

(3) AR Wl €1 | FaEm-vE @ few § @ 3 50 T | i W R0

got news primarily from newspapers or 4s over 50 years old?

(ii) msﬁﬁm%aﬁﬁaﬁ%ﬁmmﬁmm%i@mﬁmﬁmwﬁﬁ%aﬁaﬁ
ﬁmﬂmwﬁw-qﬂ@’ﬁaﬂﬁ?'

Suppose that two residents are selected. What is the probability that both
got news primarily from newspapers? 10

i ¥
.
F

i

(d) () KA F IR ok FE A Wew sl v (dw i) & R wn-d-wm @
wrdiferal gawnr W 8
Suggest at least three strategies for better waste management in Indian
cities and towns. 5

(i} T wEterr afiet 9t gian Qard yer w1 % R sk () g ol 999 & fag
3 67 9 g FWa! F T HO17
What are the two main factors which you would use for vendor evaluation
" dand selection for providing security services at office premises? 5

- 4
|
[
|

fe) (i) WHOSR SR I A YU FEAN FOWA (TWHo IMMgo Ho) F IeFAl R "l & )
% et 3itt afEimat w1 e difvm) '

Enumerate the objectives and importance of MIS in business and
industry. State its advantages and limitations. 5

(i) TFETE Rrew (3o THo) FM R? do WHo o oY iR afwfmad # Aol Hifer

What is an expert system (ES)? Describe the advantages and limitations
of ES. 5

C-DRN~N-02 b/ 38 3 [P.T.O.
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2. (a) Iaﬁngﬁ@ﬁwmﬂ (To 3o Hie) 3R g faffifa o o o W F wrry & mER
Tl R it fo o o Rdl A ARl T AW W 21 @ o Ho Go B AT
A T A TR S &, @ 98 o1t § F Sar @ oM 3@ st fepremn givea g R
TEE o o Fro Flow i wmet Fewer & forg sl Ireht, Amg, AR Yo S R
| P SR F § R ar @ o e flo T @ S R A ek B W @ St
To So o T T FHEN § GUR @R F I o B '

Arora Electronics Company (AEC) is receiving a lot of customers’ complaints
and returns of DVD players that it manufactured. When a DVD is pushed inte
ithe loading mechanism, it can stick inside and it is difficult to get the DVD out.
-Consumers will try to pull the DVD drawer out with their finger or pry it out, i
Wlth an object like knife, pencil or screwdriver, frequently damaging the DVD
or hurtmg themselves. AEC is keen to improve this quality problem.

| (i {[uméaﬁrﬁqamn (STER=T) T €7 To Fo o T w1 AT foRm e X ARl 87
What are the different d1mensmns of gquality? Hgw can quality be
measured by AEC?

| (i) Wwﬁ%mm@aﬁwﬁaﬁmﬁmiw%@ qyﬁawmmﬁm%?

|
Explain the three main classificatiohs of quahty costs. Are these related
with one another?

{iii) meﬁmmaﬁa@mgﬁaﬁwmwlmm Fo Hio

| TR TR SRR X E R

: Suggest the seven basic qﬁa’tlity tools that are used in total quality
management. How can® ‘theSe be used by AEC?

@) mqa;amﬁgwmga,?raﬁgr%n “ur e 217 Qoéopﬁoa:rwmmm
9 U g, ﬁ%mww%mﬁwﬁwélmmm%
mﬁmﬁmmm@?

Crosby, a leadmg quality Guru, said, “Quality is free.” AEC management
fails to understand this because for better quality management they need
money, How will you explain to them the rationale of what Crosby said? 20

':.'i;

(b) W%WW(W)%@W% = wft wHE 60 w02 w1 wAfrw i
w&ﬁ%lmﬁﬁmﬁa@q@mwﬁ%mmﬁﬁﬁ@ﬁm%ﬁmm
maﬂtﬂﬂ?ﬁ@f@ﬁ%mmml 1564 wE=EE % TF TE40 § 786 TEN 3N
778 nfged off 3R oot 3 gwien &% 707 T6w ik 638 wfgend s sifa it wE= F off,
HiTH T8 3uwrh oI gAYl o) gefewar (Refifera) & 0-05 T W, #1 9T & v iR
TAIAYE! €9 3 HAU IR TEE F ATS HEEA JEN 1 AHGAE Aieasd & wEgeE ¥
o 27
Tlechnology has led to the rise of workaholics, who are on the job 60 hours or
more per week. One of the reasons cited by employees as to why they worked

long hours was that they loved their job, because it is stimulating and
challenging. A survey of 1564 workaholics included 786 men and 778 women

C-DRN-N-O2b /38 : 4
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and the results showed that 707 men and 638 women loved their job, because
it is stimulating and challenging. At 0-05 level of significance, is the proportion
of workaholic men, who loved their job because it is stimulating and
challenging, different from the proportion of women? 15

(¢) () FH=R 3 vy fokm (fefaem-afE) & g 3 ©o who o &1 w1 314 37 3w
@ T|EO ) TEEa ¥ WE FRE| o who wHe F ew Afvwawt M g #
iy hifem '

What is meant by DSS in context to business and management dec%s'ion-

making? Explain with an example that you are aware. State ten
characteristics and capabilities of DSS. S

(ii) 3o Mo dio YT & W@ YTl W Y91 | 419 TR SR FaTgy, ey R "em
S % 70 €0 AR Po F ¥ R M FAE .
Highlight the major functions of ERP system. State five factors, which are
driving ERP adoption by small ‘and medium enterprises. 10

3. (a) & oy Rtw e D vEr ¥ e, awE ok S, @ aam aed 21 3 R @ R

¥ A o s Ik ufy e 100 §1 39 9N IaEl & Riw dw R, gem, aften ein
fEfafim, § v Y TawEsa el @) WA # fou o, A o REm 7 s
9 w2, 1 ueel R 4 U wd §1 ‘IUn % frw o=@ fwmt 4 www: g wed, 1 owoer i 7 wwR
@ §1 W Rt i Frgmand w36 W, 5 Hwe ot 28 "we §)
A small manufacturing firm wants to produce two types of products, Normal’
and Premium’ The profit from selling either of these products is same and
equal to ¥ 100 per piece. Each of these products requires processing in three
departments';Cag.ting, Welding and Finishing. Normal’ needs 9 hours, 1 hour
and 4 hours in Casting, Welding and Finishing, respectively. ‘Premium’ needs
4 hours, 1 hour and 7 hours, respectively in these departments. The capacities
of theSe departments are 36 hours, 5 hours and 28 hours, respectively.

fi) ‘%’m‘m’émﬁmmﬁww%m,wwﬁm
Was T g (Tie fo die) & dR T = Ffvm

Formulate the problem as a typical Linear Programming Problem (LPP) so
as|to find the optimal number of ‘Normal’ and ‘Premium’ to be produced.

(i) STTHIR WIHSH FATH WIEH FIR)

Find the maximum achievable profit.

(iii) T Fearg Fremn w@m gen?
What is the right product mix? 20

C—PRN-N-Oat (b / 38 5 [P.T.O.
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NORMAL DISTRIBUTION

An entry in the table is the proportion under the entire
curve which is between 2z = 0 and a positive value of 2.
Area for negative values of z is obtained by symmetry.

0 z
z 00 01 02 | .03 04 05 06 07 08 09
0.0 " .0000 | .0040 | .0080 | .0120 | .0160 | .0199 | .0239 .(_)279 0319 ‘.0359
0.1 |.0398 | .0438 | .0478 | .0517 | .0557 | .0596 | .0636 | .0675 | 0714 | 0753
0.2 |.0793 | .0832 | 0871 | .0910 { .0948 | .0987 | .1026 | .1064 | .1103 | 1141
03 [.1179 | .1217 | .1255 ] 1293 | .1331 § .1368 | .1406 1443 | .1480 .151_7
04 |.1554 ]| .1591 | .1628 .166{1 1700 | .1736 | .1772 1808} .1844 | 1879
0.5. 1915 | 1950 | .1985 | .2019 | .2054 .208{3; 21234 2157 2190 2224
06 |.2257 | .2291 | .2324 | 2357 | 2389 | .2422 | 2454 | 2486 | 2517 | .2549
0.7 2580 | 2611 | 2642 | 2673 | .2703 | .2734 '2764. 2794 | 2823 | .2852
- 08 |.2881 | .2910 | .2939 | .2967 | .2995 | 3023 | 3051'] 3078 | 3106 | .3133
09 |[3159 | 3186 | 3212 | :3238 | .3264 | 3289 .3|31§ 3340 | 3365 | .3389
1.0 (3413 [ 3438 | 3461 | .3485 | .3508 | .3531 .35%4. _.357.7 3599 | 3621
1.1 {3643 | .3665 | 3686 | .3708 | 8729 | 3749 | .3770 | .3790 | .3810 | .3830 -
1.2 [.3849 | .3869 | .3888 | .39(7 ;3925 3944 | 3962 | 3980 | .3997 | .4015
13 1.4032 [ .4049 | .4066 4082 4099 | 4115 | 4131 | 4147 | 4162} 4177
14 14192 | 4207 | 4222 | .4236 | 4251 | .4265 | .4279 | .4292 | 4306 | .4319
1.5 4332 | 4345 | 4357 | 4370 | 4382 | 4394 | 4406 | 4418 | .4429 | 4441
1.6 |.4452 | 4463 ._4474_ 4484 | 4495 1 4505 | 4515 | .4524 | 4535 | 4545
1.7 |.4554 | 4564 .4573‘. 4582 | 4591 | 4599 | 4608 | .4616 | .4625 | .4633
1.8 4641 | 4649 | 4656 | .4664 | .4671 | .4678 | .4686 | 4693 | .4699 | 4706
19 {47131 4719 | 4726 | 4732 | 4738 | 4744 | 4750 | 4756 | .4761 | .4767
] -C.‘i‘ .
20 (4772 4778 1. .4783 | 4788 | 4793 | 4798 | 4803 | .4808 | 4812 | .4817
‘21 {4821 | 4826 | 4830 | .4834 | 4838 | 4842 | 4846 | .4850 | .4854 | .4857
22 |.4861 | 4864 | 4868 | 4871 | 46875 | 4878 | .4881 | .4884 | .4887 { .4890
23 4893 | 4896 | .4898 | .4901 | 4904 | 4906 | 4909 | 4911 | .4913 | .4916
24 _|.4918 § 4920 | 4922 | 4925 | 4927 | .4929 [ 4931 | .4932 | -4934 | .4936
2.5 |.4938 | 4940 | 4941 | 4943 | 4945 | .4946 | 4948 | .4949 | 4951 | .4952
267 |.4953 | 4955 | 4956 | 4957 | 4959 | 4960 | 4961 | 4962 | .4963 | .4964
2.7 _|.4965 | .4966 | 4967 | 4968 | 4969 | 4970 | 4971 | 4972 | 4973 | 4974
28 |.4974 | 4975 | 4976 | 4977 | 4977 | 4978 | 4979 | 4979 | .4980 | .4981
29 4981 § 4982 | 4982 | 4983 | 4984 | 4984 | 4985 | .4985 | .4986 | .4986
3.0 [.4987 | 4987 | .4987 | .4988 | .4988 | .4989 | .4989 | .4989 | .4990 | .4990
C-DRN-N-DO# 7B/ 38 6
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(b) UTHE T2 A9 9 F 360 A U = wiw war ¢ 3 HAitemes Yo d=m 2 S wR
W & 3% FE| F WIS FAY @Al §; TG 30 T a1 @ it F2 3| dE T R
A i "M 10000 #e 92 R, wfa ot aiffes ymor @mma ¢ 075 2 afi anidw e
¥ 150 i afist 21 @8 wrd gu Tk Ain for oft fAifftm &0 @ 3 2, oi<d A wid % forg
31 FA (e 2gy) ufadasia o fifrm 2, Fefafea & swdfs

Paintkart Internet website stocks and sells paint online on 360 days of a year.
Paintkart store stocks several brands of paint; however, its biggest brand is
WeWe paint. WeWe paint has an estimated annual demand of 10000 litres of
paint, an annual carrying cost of & 0-75 per litre, and an ordering cost of j’ 150
per order. Assuming that the demand is uniform and is known with certainty,
lead time for receipt of orders is constant and certain, answer the followingl

(i) <t Uz & fore geam smew wen (el ) fee 27

What is the optimal order size (in litres) for the WeWe paint?

(i) et Fo ¥ fo =Ean T Ao A @ A7
What is the minimum total inventory cest for the WeWe paint?
(i) vET e AR o wf ad ol ) dem b 7

What is the number mof orders per ye[ar' for optimal ordering policy?

(i) A ED % v T (ol o o) T A

What is the time between two orders (i.e., the order cycle)?

(v) IR s @ 9 A A, @ [emy wow 7
If the lead time is 9 days, what is the reorder level? 15
' 4
(c) () 3-ANNE & v & o gan-seEiEr st weapl =& 37 wWemsy 6 e s
mnlﬂ'w&% et yonferat §-anfiry & fore arain €1
Why are micro-payments so important for the future of e-commerce?
Explain why traditional payment systemns are inadequate for e-commerce.

(i) aA fqm Sfaa-9% (Wo o T Hio) £t yrawud wn-Fn 87 y&F wown d wind
F N YRl B wWe i 73 fTEm 4 = fwws f o w1 s
HY HfwY| i
What are the phases of the system development life cycle (SDLC)? Explain
the duties and functions involved in each stage. State in detail the role of
system analyst in the system development. 15

C-DRN-N-D#t b/ 38 7 [P.T.O.
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4. (o) A Ry T e B W Pl i v FRiwa o g aEmad &, T s

(i #) % e, (W) gt @ fomm il -

Consider the (simplified) list of activities and predecessors that are involved in

building a small house as given below, along with their duration (in days) :

EICETe i FTfFATT T O gl FFA arafy (ft &)
Activity Description of Activity Predecessor Activity Duration {in days)
A ffa = fmin - ' 5
‘ Build foundation
B damt 2fr Bt @ fwin A 8
Build walls and ceilings
o Ta % S wm = fmi B 10
Build roof p
D [faweh & o R Ten = Fm B 5
_ Do electrical wiring - '
E  {was siv Resf &1 qem = B 10
Fix doors and windows F
F [Rwm ceE § | 3
| Painting | ,:

mmm%%%ﬁwmmwww%muﬁﬁqwm%im%w%
Tfafea 1 39 8 gaE 9 9 ¥ UM 6 oGE wE Fel |

We assume that the builder workg everyday once work is started on building

the house,

Each day of work implies working from morning 9 AM to

evenmg 6 PM.

()

@

(i)

afy Hfa-fofor w5 1 Fa) & gog 9 o YE e 9@, @ foest 7em sn 4 Wit
oft FEEHEml H F G A GEN?

If the foundation work is started on morning 9 AM of 1st November, when
can the builder complete all the activities involved in building the house?

e |

ofy Reeh ¥ ot s w1 FE 10 R A §, @ frew www T F whE wf
eIt S e T R T

If the electrical wiring work takes 10 days, when can the builder complete
all the activities involved in building the house?

gl 4f3n w1 #d 5 7 & war &, &) et wwn T # mite @t Fefwa ®owa g
L qIET?

If the painting work takes 5 days, when can the builder complete all the
activities involved in building the house?

C-DRN-N-0721/38 8
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(b) () ‘FEE A we (A= fafe R w0 87 W@ i v semw dfn, sw
m yiy’ @) g R
What is ‘central limit theorem™ Give three managerial examples, where
‘central limit theorem’ is applicable. 5

(ii) T WA B A Frere aret sl & 0% 42 i 39 R & fore dren srer 21 wen £ e
73 kg % W 3R 8 kg ¥ U fmen (Red fRuwA) F @y ama: faefw §,
mﬁmﬁmm%%mmﬁémﬁﬁ%@mww65kgaﬂ189kg
& #= am?
A set of parts coming out from a process are measured for their weightss _
Assuming that the weights are normally distributed with a mean of 73 kg _
and a standard deviation of 8 kg, what is the probability ‘that a part
coming out from this process will weigh between 65 kg and 89 kg? 5

(iii) Ras s wren (fifvr imfim wisem) & o g (€1 T58) A sEure w o
i 78 aunon yEuhE ol & fi fra yer s@ue 6t s g 87
Explain the concept of shadow pricgfin a linear programming problem.
How can this concept be used for managerial decision? 5

(¢) (i) G A ASHER (FHETA fren @A) F0 &7 gEN o AR F g, Aed F
TE-rre1 Higc i 9of7 RS g@ wied & Tl SR ERE F Fua A
What is information system planning? Dedcribe Nolan’s six- -stage model
for IS planning. State the advantages and disadvantages of the model.

(ii) mm%m@wmmm(mmﬁnmmm
FET 918 &, Gﬁ%&‘ﬁaﬁtﬂf@lﬁiﬁ%ﬁw Hto HEOQOW@WW@I%&T@
M A T, R W veia gem A @ R wwa @ o wfy () #
wugifta gus (2re) T8 & Wit | fefifas safemt 3 @ @ A mit sl @
ELCICI B
Suppose we wiéjh to implement a transaction processing system that
maintains ACID properties even in the presence of crashes. In the event of
a crash, any information stored on disk can be retrieved but any data

stored,in memory will be lost. Describe one serious shortcoming of each of
the following implementations :

(1) 3Aiche!-THd (SeEd) Yes o T fees T smraq fFen st R
Thé database is updated on disk on each transaction.

(2) Hisher-vaa Wiy  3it fees W w@n s g, aa%m%@aqwﬁf(mﬁ)aﬁm
T oAl W arey forn e R

The database is kept in memory and on disk, with the copy on disk
updated every fifty transactions.

(3) iFg-v=m WY § wn m | fowr W ww @ wRw sgdea o odt R, o @

W e frard & st

The database is kept in memory. A log file is maintained on disk

recording every transaction. 15
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@us—B / SECTION—B

5. frmfafa st & s difom -

Answer the following questions :

(a) e Sher-v % g 7, i s (TR see) T 9w B
With reference to Induétry Life Cycle, explain the terin ‘embryonic industry’. 10

(b} TG i A F 5 ¥ “Utgsmwr’ h fmmam Fefwe’ 6 famuw § ofat @@
3 B-Y i FR €, o o T afed yrow g 27

Since India’s independence, there has been a changing ideology frox__n
‘nationalization’ to ‘privatization’. What economic factors have'triggered this
change? 10

(c) ‘wHaEm WA SR ‘fm wrifa’ & e fades A weem’ $ wUw o W F T W
wftral 3T g #1 Pyl :3 & fer, q@wﬁ?ﬁwaﬁﬁﬂmmﬁmmm
&1 o
Distinguish between ‘busmess stratggy and ‘corporate strategy’. How can

value chain analysis be applied to determine strengths and weaknesses at the
. level of ‘business’ and the firm’ level? 1 10

(d) W FEe SR - AN, SHARn H TP & R % g % e e = aatts
WSS Tl 1 N wmgi % onefi danedt % s R ‘faand’ we HfRm) Faet F
g fasm Waﬁﬂﬁaﬂmﬁaéﬁaﬂxﬁ%ﬁmﬁsﬁ%mﬁww
T i q A

“India is the world’s thast attractive destination for sourcing services with
abundance of manpower, both skilled and semi-skilled. Explain various
‘modes’ of trading services under the GATT Agreement. Critically evaluate the
conflict between developing countries including India and developed countries
in international expansion of services. ‘ 10

() ‘wguefh FfE R wwewn K wlwr wmen fifw R we fif 5 sgie smw
(THo TWo Fo) & 77 THdt YaTE F Fov ot foFm TR wanfera bt B
Elucidate,the concept of ‘multilateral netting’ and explain how it influences
management of cash flows in a multinational enterprise (MNE). 10

-'_.

6. ‘Frefrfian st ¥ s AR

Answer the following questions :

(@) it R % forg 7 woe FA ¢ B R wver dm e W oaie @ §) v
y HhIH T gy A R TR T Hew wy 31 At 3 o g ofiwd it i sergedt g, wd ain
~ FW AW W @ A v aTE A ok o aweE omam A 2| wia ofit e efRor ofime

< # T H MO, - F HER ey A9evs ¥ e & fo, wnda sumem §
P Tre TEet’ S Mo shiEt w5 w9 R, R fh aiffs w1 8 25% @ 35%
wafa 8 @ ¥ wA T S G 3 A o SAE! 6 T AU O 0 % g1

C—~DRN-N-DOnt b/ 38 10
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T FTW F AW 33A R AR A A Al aftww sl e’ | ded @ @
Foft Aeve A s W oAfka #| s d, ‘T o deelt oW s safee wEE
mwmﬁm%ﬁm&a%tsﬂm Wy fawm argya e oFwidE armfiwa @
T R

Most Indians find it difficult to understand how Western people eat beef,
particularly since cow gives milk and is a revered animal. Korea and other East
Asian countries’ love for foods such as bloodworm soup, snake and dog meats
is not easy to understand for outsiders. In India and other South Asian
countries, the fairness of skin is the most important parameter of women'’s,
beauty. There is, for example, a huge market in Indian subcontinent fqi:'
fairness creams such as ‘Fair and Lovely’ which is growing annually at 25% to ¢
35%. A large number of firms have attempted to exploit this opportunity by
introducing a variety of fairness products in the market. On the contrary, most
Africans are surprised at fairness’ being considered a key parameter offbeauty.
In Africa, brands like Dark and Lovely’ for personal carg products are highly
popular. Thus domestic marketing expenences often conflict with international
reality.

(i} wﬁﬁaﬁmﬁr@agqm-ﬁ%mmﬁﬁ (mmm)ﬁwaﬁm
R, ﬁmﬁﬁmmwwﬁa@ﬁum (H=fea fefawm) o
1 g ) guTfaa el € '/
In view of the above, explain the concept of Self-Reference Criteria (SRC)
that influence a manager’s ability to make 'objective decisions while

operating in intemationa\lI firm. 5
(i) ¥ s=aiEi FRER 3§ vy en d 5 -Foaed 50w B Qe e

wofeE el 87

How do these impact ability of managers to perform effectively in

international business? 5

(b) ‘uroiren (gRRfafEE) B Afa £ nurfien TN @R % 30 wiEwh wew i fiw
e wiy- mwaﬁ%f’wmmw@wﬁaqﬂwaﬁﬁm
“Enwronmental conservation can go hand in hand with economic development

by keeping sustainability as the cornerstone of the policy.” Critically examine
this statement. 10

fc) T T | W T T TR FEAW H WA FH AR AWK e @ R A&
w3 39 wivm =iF A @ik @ i m o R A e 9 of 8 wr '@ @
TE 39 TRt F frega Tty wieded, gema @ Tl fasm R aand sdw & o ® 2:5%
R ifiym da TR HQ A1 1994 F Fo HTATW TR Fo ATF B 771 Tl 4 IR &
Mo @ 9 HH A G e T ATAeEA 2 A gl vem e adyem wwe R
o1 @& gy g (ICT) & g0 faem & wror avts o wrafal aren & yaw & afi
F9 FHIR W e 2fen dad syerey wua off, smfs 3 v ol safy & oSt & g d
3t a1fte & R aem A 3 e AR § w@w @ A= af<w $ s, 992000 7@ 150
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¥ SR v Fere W AT Sfen dard yem W @ off| s wul ft aog @ il it A
g T 1999 & IEE a6 § FAHET 5000 I F TAF AT W $ 1495 F 0l g2 9l
TEHY W AT e dand uersy U @ off wafE qof-dan gene $ 20 wfd I w S
" TR 1000 DA F AR @b $ 500 F wegel W A YA weH W @ 91 = 2000
TR T TG e H I R T AWK A 40% B 711 T F & FH a1l Fenel] i
et rEifa SEert ot 1999 ¥ A fom, oof fa1 W w @ 9 ea, 3 1000 ST @ &
MR W $ 29:95 % AHA W A AMR FG¢ YGH F1 I foram | &0t 3 31t
Taratt it < Fede R T AEgy W Ui SR H gl shE TEE! i TEE Sl e
1 ot % o A el § genell i W 6l aww § el fEr o R ) Ao $
mu@aﬁ%mmmmaﬁnﬁmﬁgﬁmﬁwwwﬂmm'
sttt T Tl F1 2000 ¥ 3fq @ WF (NASDAQ) 1 9K Ted (o9 ! hi
a9 & P 60% @ I, aﬁ%sﬁmﬁmﬁmﬁﬂwmammm
T 1 H TR 9 8 AT

For years, stockbrokers with expensive computer hardware traded online and
charged individual investors hefty commission to buy. or sell a stock.
Full-service stockbrokers such as Merril Lynch offered clients detailed research
reports, recommendations and financial planning services for as much as 2:5%
of the value of the order in commission. In 1994, a small discount broker
K. Authaurer & Co. became the first to offer onlige trading over the Internet at
much lower cost and commission. With rapidr,-"éxpans@on in information and
communication technology (ICT), entry of number of small companies offering
clients online trading services @with low commissions, America’s long bull
market drew ever more individuals into stock market. By 2000, over 150 firms
were offering online tradmg over Internet due to low entry barriers.
Commissions further dropped due to intense competition. By early 1999,
online brokers charged deep discount fees of $ 14-95 per market order of up to
5000 shares compared to $ 500 charged by full-service brokers for the order
up to 1000 shares“trading at $ 20 per share. By mid-2000s, the volume of
online trading accounted for 40% of all the stock trades. Full-service brokers
had to change their strategy. In 1999, Merril Lynch, a full-service broker,
announch online trading service for a fee of $ 2995 for trades up to
1000 shares The company also shifted to a new uniform fee structure with a
flat new ra‘ge allowing unlimited number of trades for many individual clients,
although the company faced internal rebellion from its army of stockbrokers
due to decline in income. For many of Merril’'s clients, a combination of
research and online trade was a better value proposition than discount online
trading houses. By late 2000, NASDAQ declined in value by 60% due to
multiple factors drying up the online trading. The same was the fate of other
stockbrokers.

fij e fem § atiremza 2fen § Froae o s-fse ge o7 Ruof $ifvm)
Do you think that the decline in online trading was a watershed event?
Comment. ‘ ' 10
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(i} wioeaaters OHifd TR % o sReqafors acdl & ofeda & faemn F R sh-m

=t gl (huEsh) 27

What is a good framework to analyze the changes in competitive forces to

shape the competitive strategy? 10

(iii) el 3@ § gleauiers @ § gu aieda 3 e wer s | wem & fo smeves

wrhfaat ® aeet gen

How did change in competitive forces in the brokerage industry change

the strategies required for success in the industry? , 10
7. T=fafed v & I i f

Answer the following questions :

(@) = & 53wl § 2013 # B9 % I ARG WA 1 Gl fom

A summary of major trade partners of France in 2013 is given in the table

below :
Major Trade Partqers of France
fgta | Exports i 37 | Imports
30/ Country | 777 (o Wo § ral #) | 5771 (%) | 7 Ao e § A H) | o (%)
Value (US § billion) | Share (%) Vari.ue (US $'billion) | Share (%)
st 932 | 164 {1142 17-1
Germany a
A a3 N 77 52-4 7.8
Belgium Ly
Toelt 40-3 7:1 477 71
Italy
o o § " % 69 27-5 41
UK \
o 383 68 40-7 6'1
Spain &y
o ThHo To 4| 358 63 434 65
USA
Hewdrgu ' 233 41 289 43
Netherlands |
== 19:6 35 53-8 8-1
China

Yt (F A, P =r Pt 3 4 wR-d Bl 1l S et ) wE st 27

. 37qes TR § walfis 30y R & g I9Ue SR W ) duEEe |
In your opinion, which of the international trade theories explains the above
trade patterns? Explain the above trade patterns with the theory that you
think is most appropriate. 20
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(b) "R % slifgeE TR (eaagera Urel) Y guen w1 e e FHs W 2t gee e

W TEd gu R, e ofit wiftuget % wedd #, s wraer wew @ Awem w3 F R afk
megm%mwwﬁwm&wéaﬁ%ﬁﬂ 3 o I
I Reoprie F41?

“Protection of intellectual property regime has been relatively weak in India.” In
view of this, what measures will you recommend to strengthen and bring the
intellectual property regime at par with internationally accepted framework of
intellectual property protection in the context of patents, trademarks and
copyrights? _ | - 15
(c) ﬁﬁ%ﬁﬁmmﬁﬁ%ﬂﬁﬁﬁgﬁﬁﬁ =l aﬁgﬁﬁ%amu%ﬁf@f%l”wamaﬁ
W™ A “wdear aﬁéﬁmmm%m%gﬁ%mwm%? A9 T ol
wferg Sifsr |

“In the appointment of independent directors on “corporate boards, it is
important to ensure the ‘independence’.” Do you think'that independence’ is a
matter of structure of the board or apphcat1on of mind? Substantiate your
argumernt. ; 15

8. Pl weil & wm G -

Answer the following questions : {

| I
i ¥
.

o) Tosig dwifo o & srdug B P& 90 ofaw Tl V, X, YA Z &l e
Fofed e o
Four business units WV, X, Y and Z of a firm P have been characterized as
follows, after carryimg out the Business Portfolio Analysis :

=HGHT TFH v X Y A
Busintess Unit
Ao " T |Fmig (FuEn)| e v g
Category Dog Cash Cow Star Question Mark

"

) g 3 for e P Rt 1 o ) % R o e R

&8 A ey YT Sy Y

How| will you use the ‘general electric’ framework to determine the

strategic investment options for these business units? 10

(i) T Waerfi ® Q, ¥ P& U@ W% Y F =R H GleT =msd § o 3us fo
HTHYH YFURT =T FA % fAC dFR 31 1 B P ol S SR e Sriee? faea
w QR FEEE wF Yawa # wl p ¥ o wn gg-fuy §7 |
A competitor firm Q is keen to acquire firm P’s business unit ¥ and is
willing to pay an attractive amount for this purpose. Should the firm P
accept the offer? What are the pros and cons to firm P of selling the
business unit Y to competitor firm @? : 10
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(b) (i) ‘s & rauwen F gav § sren fif A o s ok Tam aem w

ITH IR F wfawar e fifw)
Briefly explain the concept of ‘dumping’. Elaborate various forms of
dumping and their impact on the target market. 10

(i) FNR N T H THTN FH WE HIFC aW 3@E wE qogel FEa’, e ok
‘' & =R H el 9 faves e fefie @ wesia 2t i ‘s ) el §
f3r=ran & Fwor gt |

Explain the concept of ‘terms of trade’ and its significance. Differentiate
between ‘met’, ‘gross’ and ‘income’ terms of trade. Identify the reasons for
differences of ‘terms of trade’ between developed and developmg'
countries. [ 10

() ‘“‘agudia wi % Ry Rl w OARE & wErR e B e da 2, R s
wﬁuammmﬁf’wﬁﬁzw%m&h%mﬁﬁmmﬁmﬁﬁm

“Managing external debt portfolio of A multinational firm is crucial to
profitability, as otherwise operational efficiency will jeopardize.” Explain this in

the context of enhancing corporate value. | 10
* %k v
" |
' 4
.r'.i_
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